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|. BBITTIOJITHEHUE KOHTPOJIbHBIX 3A JAHUH
[TucbmenHass koHTposibHasi padota Ne 3 mo gucuuiuinHe «MHOCTpaHHBIA S3BIK»
(aHTJIMICKUM ),BBITIONHSAGMAsT ~ CTyJEHTaMH  3a04yHOM  (QopMbl  00yueHws,
npeaycMoTrpera yueOoHsiM mianoM HI'VOYVY. Ilenbio BBINONIHEHUST KOHTPOJBHBIX
3aJlaHAN  SIBJISIETCSL CaMOCTOSITENIbHOE MpUOOpeTeHue U yriyOlieHue 3HaHuM
CTYJIGHTaMHU B O0JIACTM HMHOCTPAHHOTO SI3bIKAa, WUX 3HAKOMCTBO C OCHOBHBIMH
AJIEMEHTAMH JIEKCUKO-TPAMMATHUYECKOW MOJICIIA aHTJIMKUCKOTO s3bIKka. Kpome Toro,
KOHTpOJIbHAss paboTa SBIAETCS OJHUM M3 BHUJIOB KOHTPOJS KauecTBa 3HAHUU
CTYJICHTOB, U3y4aIOIIUX JAHHYIO TUCIUIUINHY.
Jnsa BemonHeHuss ¢ 1 mo 4 3amaHug ClaeayeT BOCHOJB30BATHCS MATEPUATIOM
yueOHUKa AHrJmickuii s3bIK. [pamMatuka. COOpHUK  yHpasKHeHMH.
IN'onuumunckuii 10.6.-KAPO,2008
Jns BeINOJIHEHUS S 3aAaHuUsl CIEAYET O3HAKOMUTBHCS C COAEp>KaHUEM TEKCTa U
ONPEJEIUTh €ro OOy HAaMpaBIEHHOCTh. 3aTeM CIEAyeT CHeNaTh CIUCOK
HE3HAKOMBIX CJIOB, BCTPEUAIOIIMXCSI B TEKCTE, W pPaClOJOXUTh UX B
MpEeIBAPUTEILHBIX 3aMUCAX (YEPHOBUKE) B al(h)aBUTHOM MOPSAJIKE , YTO COKOHOMUT
BpeMsl TIOMCKAa UX PYCCKHUX COOTBETCTBHI B clioBape. B kauecTBe TpeThero srara
1[eJIeCO00pa3HO  CKOHIIGHTPUPOBaTh BHUMAaHWE HA  CJIOBOCOYETAHMUSX U
rpaMMaTUYECKUX KOHCTPYKIUSX, COJEpXkKalumMxcsi B TEKCTEe, W - TMpH
HEOOXOJIMMOCTHU- OOPATUTHCS K TPAMMATHUYECKUM KOMMEHTAPHUSIM, HAXOSIIIUMCS
B y4eOHHMKE aHTIMHCKOro s3bika. I[locie STUX mpeaBapuTENbHBIX HTAIoOB
00pabOTKH TEKCTa MOKHO MPUCTYINATh K €r0 MEePEBOAY.
KauecTBo paboThl OIlEHHMBAETCA MO TOMY, HACKOJBKO TJIYOOKO M aJeKBaTHO
BBITIOJTHEH CTYAEHTOM NEPEBOJ] TEKCTA (B OLIEHKY BXOJUT TAKKE CTUIMCTUYECKOE
U TpamMMaThyeckoe o(opmMiieHHEe MEPEBOJAHOTO PYCCKOTO TEKCTa), MPaBUILHOCTH
BBITIOJIHCHUS yIIpaxkHeHUH. JlaeTcst 00mias OleHKa «3a4TeHay WA «HE 3a4TCHAY.
Ecmu pabGota He 3aureHa, B Hee HEOOXOAMMO BHECTH COOTBETCTBYIOIIHE
WCIIPABJICHUSI C YYETOM CJCIaHHBIX 3aMeuaHuil. CTylIEeHTbl, HE BBITIOJHUBIINE

KOHTPOJIbHYIO pa60Ty WJIK HC ITOJIYYUBIOUC 3a4CTa 110 Heﬁ, K 3a4€TaM H 5K3aMCHaM



He gonyckatoTcsi. KoHTponpHOE 3a/1aHKe B JAHHOM MOCOOMY MPEIaraeTcsi B TpEX
BapUaHTaX.

CTyneHTbl  AOJDKHBI  BBINOJHUTH  OJWH W3  TPEX  BApUAHTOB B
COOTBETCTBHH  C nocneAHUMH  nudpamu CTYJE€HYECKOTO mmdpa:
Crynentsl, mudp KOTOPHIX OKaHYMBaeTcsd Ha 1, 2 wiM 3 BBINOJHSIOT BapUaHT

Nel; Ha 4, 5 nimm 6-Ne2; Ha 7, 8, 9 vm 0-Ne3.

II. ”HCTPYKIIMM I10 BBITTIOJHEHUIO KOHTPOJIBHBIX 3AJAHUI
BrIinonHaTh MMCbMEHHBIE KOHTPOJIbHBIC paboThI clenyeT B
oTnenbHOM Terpaau uinu B ¢dopmare A4. TurynbHbIA JHCT OGOPMIIAETCS IO
dbopme, mpunsito B ganHoM BVY3e, kynma Bxoaar: Ha3zBanue BY3a, Homep
KOHTPOJIbHOM  paboThl, Bapuant, Homep rpynnsl, DU.O. crynenra,
BBITIOJTHUBILIETO paboty u
npenojaBaresii,  KOTOpOMY  HampaBisieTcss  pabora  Jjisi  IPOBEPKH.
4. Tlpu BBINOTHEHUH KOHTPOJIBHOM pabOThl  OCTABISINTE B  TETpaju
IIUPOKWE TOJs JUIsl 3aMedyaHui, OOBICHEHWH U METOJIUYECKUX YyKazaHu
pELEH3EHTA.

5. DBrolnonHeHHbIE KOHTPOJBHBIE pa0OThl HAMpaBJISHTE M TPOBEPKH H
PELIEH3UPOBAHUS B MHCTUTYT B YCTAHOBJICHHBIE CPOKH.

[II. KPUTEPUU OLIEHKN.

1.Kaxxnoe BepHO BBIIIOJIHEHHOE 3a/1aHue olleHuBaercs B 20 0anos.

Oo0mmee xommuectBOo OamnoB coctaBisieT 100. Ecoim 60% 3amaHuii BBIIOJHEHO
BEPHO, TO pabOTa CUNTACTCS 3aUTCHHOM.

2. Eciu koHTpoJibHasi paboTa BBIMOJIHEHa ©O€3 COOMIOJCHUs] yKa3aHUM
WIn HE MOJIHOCTBIO, OHa BO3BpallaeTcs oe3 IPOBEPKH.
3. Eciu pabGota He 3auTeHa, €€ HYKHO BBIMOJHUTH BTOPUYHO C YYETOM
BCEX 3aMEUaHUM pEelEeH3eHTa U BMECTE€ C HE3aYTEHHOW paboToil HampaBUTh Ha

BTOPUYHYIO ITPOBEPKY.



Jly1st TOoro, YTOOBI MPABWIILHO BHITIONHUTE KOHTPOJBHYIO paboTy No 3,
HEOO0XOIMMO YCBOUTD CIICIYIOIINE Pa3eiibl Kypca aHTJIHICKOTO S3bIKA T10
PEKOMEH/IOBAaHHOMY YUCOHHUKY:

1. BunoBpeMeHHbie (GOpMBI TIIaroa:

a) akTUBHBIN 3amor Gopmsl Indefinite (Present, Past, Future); dhopmsr
Perfect (Present, Past, Future);

0) maccuBHbIi 3anor ¢popmel Indefinite (Present, Past, Future).
Oco0eHHOCTH TIepeBOia MACCUBHBIX KOHCTPYKIIUN Ha PYCCKHI SI3BIK.

2. MoanbHEIE TJ1arojibl;

a) BeIpaXkarolue BO3MOKHOCTh can (could), may v SKBUBaJICHT
riarosa can - to be able;

0) BBIpa)KarOIIHME JIOJDKCHCTBOBAHHME: MUSt M €r0 SKBUBAJICHTHI to have
to u to be to; should.

3. IIpocteie HenuuHbIe popmbl rnarona: Participle 1 (Present

Participle), Participle 2 (Past Participle) B pyHKIUAX onpeneneHus u
oOcrositensbcTBa. Gerund-repyHauit, mpocThie GOPMBI.

Bapuanrt 1

1. IlepenuuuTe cjaeayrouue NpeaI0KeHns; MOAYCPKHATE B

KaK/A0M M3 HHMX IJIaroJi-cKkasyemoe M omnpejejinTe ero BUI0BPEeMEHHYI0
¢hopmy u 3asor. [lepeBeaure nmpeasioKeHUss HA PyCCKUil A3bIK. B
pasnese (0) oOpaTuTe BHUMAHHME HA NMEPEeBOJ MACCHBHBIX KOHCTPYKIMA.

a)1.The experiment will by accomplished in the morning.

2. During the night we were all woken up by a loud explosion.

0) 1. The cargo was lifted by the huge cranes and deposited in the holds.

2. The luggage has been taken to the railway station.

2. Ilepennmute npeasoxkenusi; noxuepkuute Participle 1 u Participle 2 u
ycTaHOBHUTE QYHKIUM KAMXKA0T0 U3 HUX, T.€. YKAKUTE, IBJIAETCS JIK OHO
3)



onpeaejeHueM, 00CTOATEIbLCTBOM WIH YACTHIO IJIaroJia-cKa3yemMoro.
IlepeBenuTe npeayioKeHUs1 HA PYyCCKUI A3BIK.

1.The economist is investigating how an increase in the price of good
influences the quantity of another good demanded.

2.Boom is a period of increased business activity when a rising demand for
all commodities results in increased industrial production.

3. Varing input, the firm can vary output.

4. Expendure is an amount of money spent.

1. 3. IlepenumiuTe cjieayionue NpeaioKeHUs 1 MepeBeInuTe X HA
PYCCKHIi A3bIK, 00palnasi BHUMAHUE HA (PYHKIUIO MHPUHUTHBA.

1. All travel firms in Great Britain may cooperate with all leading travel
agencies.

2. The experiment to be carried out is of great importance for our
research.

3. The purpose of this booklet is to describe the country, its history and
culture.

4.To know English well we must work hard at it.

4. Ilepenumure cjieayromue Npeaio:KeHns; MOAYEePKHUTE B KAXKIAOM U3
HHMX MOJAJILHBIN IJ1aroJ Win ero 3xpuBajieHT. [lepeseaure
MPeIJI0KEeHUS HA PYCCKHUI A3BIK.

1. Government regulations should be in the interests of society.

2. As the price of one good rises, the consumer has to buy another good whose
price has not risen.

3. The limited supply of energy in some sectors of the US economy is to lead
to changes in the economic situation as a whole.

4. Now bookkeepers and accountants can obtain the necessary information
more economically and faster using computers.



5. a)lIpounTaiiTe TeKCT M MUCbLMEHHO NepeBeauTe 1,2-ii ad3a.

[1ossCHEHHSI K TEKCTY

oligopoly - onmroriosnus ( cyrecTBOBaHHE HECKOIBKIX KPYITHBIX KOHKYPH-
pyrommux GupM, MOHOIIOJIM3UPYIOIINX TPOU3BOICTBO U COBIT OCHOBHON MAacChl
HPOYKIIUK B OTPACIIH).
subsidiaries - mouepnsist KoMIaHus Wik pupMa, huIHal.
INputs - BBOAUMBII pecypc, BIOKCHHUE, 3aTPAThI

Trade and Finance

1. In retail and wholesale trade there are a few large chains, but there are also
thousands of small dealers. The large chains are known not to have very much
market power. In trade, market power is usually based upon location or reputation,
not upon the size. Hence it is not surprising that retailers have been known to set
retail prices or profit margins in a particular area. The great oligopolies in
manufacturing need no formal agreement to gain power over prices

2. Canadian banks are very few; and they agree on interest rates and credit
terms among themselves. It means that they also face government regulations with
respect to interest rates and lending terms. The insurance business dominated by a
few large firms - Canadian and foreign, also exists in the country. Their success is
believed to result from the agreements among themselves. Like all insurance
companies their practices are also regulated by the federal and provincial insurance
laws.

3. The eight banks share their field with trust companies, mortgage companies,
credit unions and with many other sorts of firms which offer loans. One should not
confuse the financial power of some large corporations with the market power.
These large corporations are certainly enormously influential in Canadian society.
But size need not necessarily result in market power, and it is market power which
interests economists most.

4. Consider a very large holding corporation participating in the profits of
many industries through its ownership of shares, bonds, and enterprises. Its market
power depends on the market conditions where many of its subsidiaries buy their
inputs and sell their outputs. The size of the parent company does not necessarily
give market power to the subsidiaries, nor do the subsidiaries' connections with the
parent company. However, most Canadian economists seem to think subsidiaries
unduly powerful.

b). IucbMeHHO 0TBETHTE HA BONPOC 10 COJEP:KAHUIO TEKCTA.

1. What regulate the practices of banking institutions? (2-ii a03air)
7



Bapuant 2

1. IlepenumTre cjeayrwouue nNpeajioKeHns, NOAIYCPKHATE B

KaK/A0M M3 HMX IJIaroJi-ckasyemoe U omnpejejimre ero BUI0BPEeMEHHY IO
¢opmy u 3asior. IlepeBeaure npeaiokeHnst HA pyccKui si3bIk. B
pazaeJie (0) oOpaTuTe BHUMaHUE HA NePeBO/I NACCHBHBIX KOHCTPYKIIHIA.

a)
1. The market research helps the producer to predict what the people will
want.
2. Nobody will want to produce if they receive a zero price.
0)

1. Inputs are the factors of production that are put into a business for
producing output as a commodity or a service.

2. A budget for the next year had been adopted by the general meeting of our
economists.

2. Ilepenumure cjeayomue NpeaioKeHus ; MOAYePKHUATE

Participle 1 u Participle 2 u yctaHoBHTe QyHKIHHM Ka3KI0T0 U3 HUX, T.€.
YKaKUTe, ABJSAETCH JIU OHO ONpeae/ieHneM, 00CTOATEIbCTBOM HINYACTHIO
rjaroJja-ckasyemoro. Ilepeseaure npeayiomeHuss Ha pyCcCKUi

SI3BIK.

1. The passengers, leaving over the rails, waved good-bye to their friends.
2. Houses made of polymers are strong and cheap.

3. The bus being full didn't stop.

4. There was a broken vase on the table.

3. Ilepenumure cjeaymomue NpeaioKeHUs: NOAYEePKHATE B

Ka>KA0M U3 HUX MOIlaHbHLIﬁ rjaaroJj mJim €ro 3dXkBUBAJICHT. HepeBezmTe

NPEeAJIOKCHUA HA pyCCKI/Iﬁ AI3BIK.

1. A foreign company in Great Britain must give certain information about
itself to the government offices.

2. All assets that cannot be easily converted into cash are considered frozen
capital.



3. If prices change the consumer will have to change the quantities
demanded if he is to maintain utility at the same level.

4. The economist should be able to say which factors affect the allocation of
resources for producing a particular good.

4. Ilepenumure cjeaymonue Npeajio:KeHns, nepeBeIuTe UX HA
PYCCKHH SI3bIK, O0paniasi BHUMaHue HA PYHKIUI0 MHPUHUTUBA B
NpeII0KEeHUM.

1. To design new building is the work of an architect.

2. We know radio and television play a very important role in our life.

3. Our firm was the first to organize tours to Egypt.

5. a) IIpounTaiiTe TeKCT M MACLMEHHO TepeBeanTe 2 U 4 -ii a63aIbl.

[logcHEHUS K TEKCTY

1.to be a price-taker - 31. npUHUMATE CJI0KHUBIIHECS 114 PHIHKE IICHBI
2.etC. - ¥ Tak ganee, U TOMy MOA00HOE

3.Marginal cost — nonoaHUTETbHBIC U3ACPKKI

4.revenue - goxond

Theory of Supply

1. The theory of supply is the theory, of how much output firms choose to
produce. The principal assumption of the supply theory is that the producer will
maintain the level of output at which he maximizes his profit. Profit can be
defined in terms of revenue and costs. Revenue is what the firm earns by selling
goods or services in a given period such as a year. Cost are the expenses which
are necessary for producing and selling goods or services during the period.
Profit is the revenue from selling the output minus the costs of inputs used. Costs
should include opportunity costs of all resources used in production
Opportunity cost of a commodity is the amount an input can obtain in its best
alternative use (best use elsewhere) In particular costs include the owner's time
and effort in running a business. Costs also include the opportunity cost of
financial capital used in the firm.



2. Aiming to get higher profits, firms produce each output level as cheaply as
possible. Firms choose the optimal output level to receive highest profits. This
decision can be described in terms of marginal cost and marginal revenue. Marginal
cost is the increase in total cost when one additional unit of output is produced.
Marginal revenue is the corresponding change in total revenue from selling one
more unit of output. o

3. As the individual firm has to be a price-taker, each firm's marginal revenue
iIs the prevailing market price. Profits are the highest at the output level at which
marginal cost is equal to marginal revenue, that is, to the market price of the
output. If profits are negative at this output level, the firm should close down.

4. An increase in marginal cost reduces output. A rise in marginal revenue
increases output. The optimal quantity also depends on the output prices as well as
on the input costs. Of course, the optimal supply quantity is affected by such
noneconomic factors as technology, environment, etc. Making economic forecasts
it is necessary to know the effect «la price change on the whole output rather than
the supply of individual firms. Market supply is defined in terms of the alternative
quantities of a commodity all firms in a particular market offer as price varies and
as all oilier factors are assumed constant.

b). IIncbMeHHO OTBETHTE HA BONPOC 10 COEPKAHUIO TEKCTA.
What is the profit? What is the profit important for? (1-it a63air)
Bapwuant 3

1. IlepenuiuuTe caeayoUIHe MPeII0KEHUs, IOAYEPKHUTE B

KAKJI0M U3 HUX IJIAroJi-CKazyeMoe U ornpeienrTe ero BUA0BPEeMEeHHYI0
¢hopmy u 3asor. [lepeBeaure nmpeasioKeHUs HA PyCCKUil A3bIK. B
pa3nese (0) oOpaTuTe BHUMAHHME HA NMEPEeBOJ MACCHBHBIX KOHCTPYKIMIA.

a)
1. For 40 years after 1945 countries of Eastern Europe had planned economics
in which market mechanisms played only a small role.
2. Profits had only slightly increased and therefore we reduced our further
investments.

6)
1. Resource allocation decisions are being made every day in every city, mostly
through the mechanism of market and price.
2. When supply is increased, a larger amount is offered at a given price.

2. llepenumure caeayoIye NpeaiokeHus; noquepkaure Participle 1 u
Participle 2 1 ycTaHoBUTe (P)YHKIMH KaKI0I0 U3 HUX, T. €. YKaKUTe,
10



SIBJISIETCS JIM OHO OIpe/esieHneM, 00CTOATEIbCTBOM WM YACThIO IJ1aroJia-
ckazyemoro. [lepeBeaure npeasioKeHUsi HA PyCCKUM A3BIK.

1. The utility depends on the quantities of goods consumed.

2. The assumption is that the consumer chooses the good having the greatest
utility for him.

3.The syndicate controls prices and output and, allotting quatas to its
members, it divides the market demand among them.

4.At prices above equilibrium we have a situation know as excess supply, or
surplus.

3. Ilepenumure cjeaymomue NpeaioKeHNs; MOAYEePKHUTE B KAXKA0M M3 HUX
MO/JAJIbHBIN I[J1Ar0J1 WIH ero JKBuBaJjieHT. [lepeBeaure npeaio:xkeHus Ha
PYCCKHMH SA3BIK.

1.The forms of capital cam be distinguished in different ways.

2. He ought to take a more active part in decision making on the exports
strategy of the company.

3. The substitution effect must reduce the quantity of a normal good demanded.

4.A great increase in the supply of money in the form of bank-notes and bank-
credit is to result in inflation, that is, a rise in the general level of prices.

4. Ilepenumure nmpeaJioKeHUs U NepeBeuTe HX HA PYCCKUH SA3bIK.
1. The new tours worked out by Intour Trans are very interesting.
2. We know Intour Luxe organizes different tours.

3. We expect Sputnik tours to be rather fascinating.

11



S. [IpouuTaiiTe TEKCT U MUCLMEHHO NepeBeauTe 3, 4-if a63a1bI

[logcHeHHUS K TEKCTY

1. that is - To ecTb

2. In question - 0 KOTOPOM HJIET PEUYb
3. rather than - ckopee, a He...

4. within - B, B mpejieniax, B paMKax
5. provided - eciu, pu yCIOBHH, YTO
6. constraint — orpaHuycHUE

Theory of Demand

1.Consumer demand is the quantities of a particular good that an individual
consumer wants and is able to buy as the price varies, if all other factors
influencing demand are constant.

That is, consumer demand is the relationship between quantity demanded for the
good and its price. The factors assumed constant are prices of other goods, income,
and a number of economic factors, such as social, physiological, demographic
characteristics of the consumer in question.

2. The theory of demand is based on the assumption that the consumer
having budget constraint seeks to reach the maximum possible level of utility, that
IS, to maximize utility, but he usually prefers to obtain more rather than less. The
consumer has to solve the problem of choice. If he is to maintain a given level of
utility, increases in the quantity of one good must be followed by reductions in the
quantity of the other good. The consumer has to choose the specific goods within
the limits imposed by his budget.

3. As the price increases, the quantity demanded decreases. This relationship
between guantity demanded of a good and its price is called the law of demand. As
the marginal utility from each additional unit of the good consumed decreases, the
consumer will want to buy more of this good only if its price is reduced. Market
demand is the quantities of a good that all consumers in a particular market want
and are able to buy as price varies and as all other factors are assumed constant. A
market demand depends not only on the factors affecting individual demands, but
also on the number of consumers in the market. The law of demand also works
with market demand. A change in demand takes place when one of the factors as-
sumed constant changes.

4. An increase in income results in a rise of the quantity demanded, provided
goods are normal. A change in the price of one good has an income effect and a
substitution effect. The income effect of a price increase is to reduce the quantity
demanded for all normal goods. For inferior goods, the income effect works in the
opposite direction. The substitution effect leads consumers to buy less of the good
whose price has increased. The price substitution effect of a price rise will also

12



reduce the land for goods that are complementary to the good whose price has
risen.

b). IIucbMeHHO OTBETHTE HA BONPOC 0 COIEP:KAHUIO TEKCTA.

What factor can influence consumer demand? (2-it a63air)
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